fmA%H8 / Diaphragm Valve
VDV33UA 7%l

VIGOUR

It

« BRTHAESAMAIRIESESAE

- BEBRREN, BEANMNEETEE, SHATRtAEEt

o MW FE, BRFEIMFRRES
- REAHES M
o FREEEEERAEL A PCTFE, Vespel® / PFA BJi%

1EE / EHER
sl r o o o C
-10Tc, 205bar T 7‘ Mﬁ } ‘r
| |

i A s R T
R e R
a2 | | | | |
T e e e N
I - T

| 1 | 1 |
-10 0 20 40 60 80 100
RE (°C)
I EARSE

BRATIEES: 3000 psig (200 bar)
SN TIEES: 58~87psig (4-6bar)
RATIERE: 14°F ~ 104°F (-10°C ~ 40°C)
R
K 316L
fEhR: Elgiloy®
CooE SR PCTFE
Fi: AL
ISR tHRER: <1x10° mbar I/s He
HhERitRER: <1x10° mbar I/s He
mESH 1/4" Cv=0.27 3/8" 1/2" Cv=0.5
HE: £90.27kg (BURTFERIEI)

e ]

 veor It

1/2 8




VIGOUR Diaphragm Valve / [GiEH#E
VDV33UA %71

=5 RY (mm)

A
LI
'\@ ) |
N— ‘
T OPEN 0° | ks
3M5X08ﬁ§: *[TjiTIPF 2-M5X0.8+
DP6 N DP6 B}
A= =M=
B B T= e
B £ E
L
1/4,3/8,1/2 FhEL 1/4,3/8,1/2 SEhEL (HiH)
A
| Fahm
| O AORY R (mm)
‘ mm) A T B]CJ]EJF]L[H
| 1/4" FEEL 44 | ®54 | 28 [ 111 18 | 28 | 65 | 74
‘ 3/8" FEmL 7 54 | 42 [182 | 27 | 38 | 848 | 86
! 12" FEEL 7 54 | 42 [182| 27 | 38 | 896 | 86
2-M5X0.8 | S (BFEEAD)
DP6 ¥} ‘ — -
! I R Raps | FALORYT R (mm)
‘ 4%%&71$4,]E%F (mm) A [B ] C D E[F|L [H
} 1/4" FEEL N.C 44 |®565| 28 | 11.1 | M5x0.8 | 18 | 28 | 65 | 905
\ /4 £EEL | NO 44 | ®58 | 28 | 11.1 | M5x0.8 | 18 | 28 | 65 | 134
E 3/8" FEEL N.C 7 |®565] 42 | 182 | M5x0.8 | 27 | 38 | 848 105
12" FEEL N.C 7 |®565| 42 [ 182 | M5x0.8 | 27 | 38 | 89.6 | 105
1/4 S8 (BFF) 174" ,3/8" ,1/2" EHRIUESE, HeEEsrNigsEaI .
| BN
VDV33UAS - M -04 - 04 - PA
MR N L EEEREIR
S: 316L Z8H: PCTFE ()
PA: PFA
VS: Vespel®
gﬁﬁjﬁﬁ T ALl N
PO: Sz (BF) * F4: 1/4" NPTP#ESL
PC: Sa (¥EF) N
06: 3/8" £E#E:L

* BfhiEENE, EEET.




